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ANNOUNCEMENTS. OF NEW RESULTS

ON THE INTEGRATION ON & -CLASSES

M. Navara, P. Pték (Techn%cal University of Prague, Suchbéd-
tarova 2, 16627 Praha 6, Ceskoslovensko), received 9.4. 1980

We announce a partial solution to two problems posed
by S. Gudder in the paper "A generalized measure and proba-
bility theory for the physical sciences", Foundations of Pro-
bability Theory, Statistical Inference and Statistical Theo-
ries of Science, Vol. III, 121-141(1976). Suppose (L ,C) is
a 6-class and f and g are finitely valued measurable func-
tions on (£.,C). Suppose m is a probability measure on (Q,C).
1. If £4£g then [ £ dm gf g dm. The same is valid if f, g
aQ 0

have countable number of wvalues which converge to zero.
2, If any of f, g has at most five values and f+g is measur-
able, then J'nf dm + [ g dm = In(f-'-g) dm,

SOME SEQUENTIAL PROPERTIES

M. Hu8ek, Charles University, Sokolovsk4d 83, 18600 Praha 8,
eskoslovensko), received 29,4, 1980

R, Fri¢ and V. Koutnik asked in their contribution on
Top. Colloq. in Budapest, August 1978, whether there are se-
quentially complete completely regular spaces X, Y such that
C*(X) = cg(X) (C; stands for sequentially continuous maps),
C*(Y) = C4(¥), C¥(X) and C*(Y) are isgomorphic and X, Y are
not homeomorphic. The space X = [0,1] 1 and the = -product
Y =4ix beX |-t=alx°a+o}l < w4t solve the problem (the re-
quired properties follow from Mazur ‘s results in Fund. Math.
39(1952), 229-238). This pair also solves their Problem 5
whether for Xc 3Y, @RX = (3Y one has X c ¢Y (here ¥ is
the sequential closure of Y in [sY)a; Similarly one can con-
struct disjoint sets X, Y in {0,111 such that C¥(X) =
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